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Sukuna Secondary School

Sundarharaincha: 10, Morang
Entrance model question 2082

Class: 11 Law
Time: 2 Hours F.M.: 100
Tick the best answer. [1 %100 =100]
-Model Question
Sub:-English

(A) Read the given passage and do the tasks that follow,
Who do you think is the most successful? Who do you think is the least
successful?
In order to answer these questions, we first need to define success. Everyone
has a different definition. Many of us place great value on reaching various
goals. Others associale success with material goods, measuring it by how
much one can get. Others measure success by how much they can give to their
families or the community. There are many other definitions, but mostly,
success is related 1o becoming rich, famous, and respected at work. Yet, it
doesn’t have to be that way.
Being successful could mean simply being satisfied with oneself and one’s
career. For many people, a successful person is sdmeone who feels that his or
her work and life offer a high degree of success.
But how does one get from here to there? How does one reach his feeling of
satisfaction with life and career? Successful people do two things: they use
their abilities in their work and they set career goals.
In other words, successful people choose careers where they can use their
abilities. For example, successful teachers are pupils who know how to help
people learn, and the best doctors are those who know how to listen to people.
Successful people know where they are starting from and what direction they
want to give their lives, even if it is as simple as raising a happy family.
‘What do the words in bold in the following sentences from the text
mean? Choose the correct option. (5x1=5)
1. Many of us place great value on reaching various goals.
i. give ii. Take  iii. Understand iv, help
2. Success is related to becoming rich, famous, and respected at work.
i. not being able to achieve something ii. losing something
iii. being able to achieve something iv. being able to play
3. How does one reach his feeling of satisfaction with life and career?
i. duty ii. Job iii. richness iv. Poverty

4, They use their abilities in their work and thcy set career goals.

i, determine  ii. Know iii. learn iv. unknown
5. It is simple as raising a happy family.
i. collecting ii. bringing up iii. liftingiv. riding
(B) Choose the best alternative.(15 x 1 = 15)

6. She shut the door,...cicvivirievininiinnraninc?
a. Don’tshe b.didn'tshe c.haven’tshe d. doesn't she

7. They .................. here for 10 years. ! .
a. were working b. had work c. have been working
d. are working

8. Theygotme..............aletter
a. towrite b. Write c. Written d. none of them
9. Ifhe had worked hard, he ................ the exams.
a. would pass b.will pass c. Passed d. would have passed.
10. Listen! Someone .......cccceveveren for help.
a. Shouts b. has shouted c.shouted d. is shouting.
11. Mt. Everest is ........ highest peak in the world.

a. A ban c.the d. noarticle
12. Heis fond ......... listening to music.

a. for b.of c.at  d.in
13.1, as well as my friends, ............ going abroad.

a. is b.are c.am d.was
14. He has not completed his work .

a. yet b.already c. always d nom. of them
15. Somebody ..oocviiniinnsnn Outside for you.

a. wait b. waiting c. is waiting d none of them
16. The passive form of *Shut the door." is .

a. The door was shut  b. Let the door bc s‘nuJ.

b. Be the door shut d. The door must be shut.

17. He enquired if I ......... his father.

a. were b.was c.am d.are
18.Icando .. .. you can.

a. why b WhICh c. what d. who
)L E S R — of cattle is grazing.

a. group b.pride c.herd d. pack
20. Ram, do the homework .
a. himself b. hrssclf [ yowself' d yourselves
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